Buying a Balloon

Lola bought a balloon at the circus. She
gave the clown six coins to pay for it.

What could Lola have paid for the balloon?

Which of your answers seems a reasonable
amount to pay for a balloon?

Vera is shopping at a market with these coins in her purse. Which
things could she give exactly the right amount for?




The Money Maze

Go through the maze, collecting and losing your money as you go. You
may not go through any cell more than once, and can only go into a

cell through a gap, for example, you may not go from 5 to 6, or
from 7 to 3.

2010 2 add “peng
£100 less — £150 ESD
T T

I I . I —
& T B8
lose add J‘ minusJ- £120

£50 | 50% __ £20 _ more
L | L

0
i
|

r.r-_l_l

— = A b
g o 11 12
add - g5g -+ d:ﬁ”u”r'e add
£10 __ Jess money | £20
ﬁ'_ 7 | 5 F e —
minus™ plus == £10 ~ £30 "end
—>

£10 £20
T T less T more T

Which route gives you the highest return? How much is it?
Which route gives you the lowest return? How much is it?



How Much Did it Cost?

Dan bought a packet of crisps and an ice cream.

The cost of both of them together is in one of the boxes below.
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Use these clues to find out how much he paid:

1. You need more than three coins to make this amount.

2. There would be change when using the most valuable coin to buy
them.

3. The crisps cost more than 50p.

4. You could pay without using any copper coins.

5. The ice cream costs exactly twice as much as the crisps.



